km 0+800

km 0+750

W=0.63 m2

0.28 m2
0.33m2

W

N

0.25m2

N=

=0.312m2

W-wa wyrdw.

0.442 m2

W-wa wyréw.

p.p 139.00

p.p 139.00

€T TIVT 065
067
85 0VT se'y
69°0VT| gTy
€5 THT cze
6S'TVT | 0G°TVI| o5z
YO TYT VS TVT| 0070
6S'TVT [8V' TV [ oGz
€5 THT GZE
66011 .
) 06'€
8G°0VT S
VI TV | og'h
009
L
=
=
(W]
S 2
o W
3 = —
T B3
Lod L ad
2 3|8
> o o
LZTVT | 099
or'S
06't
0S¥
L0 TYT
00'%
eV IVl YA
6V TVT |ye1vT | g2
YSIYT | T9'TPT| 000
6V VIOV TVT | gz
Sz’
eV IvT .
ogovt | 8€
16°0VT ey
09'f
€6°'0VT | 0g9'g
Ll
=
=
o Lol
c | =
= L
(@) = —
T 2| 3
L L m
5 5| &
N ¥ 8

km 0+825

km 0+764

W=0.57 m2

W=10.0 m2

05'S
9Z'TYT
oT'S
ge'y
T90VT T90VT [ g7y
/ 8G'TYT YA
| P9TYT 56 TvT| 05
|
|
|
|
|
|
|
|
| 69'T¥T|09'T¥T| 000
|
|
|
|
|
|
|
|
|
" VO TVT VS TVI[ ooz
L
N 85 TVT gz e
) LOTVT [ ege
\T T9°0VT ocp
: TV og7
529
o
S
(o2}
o~ 3 2
1S o AWn W
o o (@)
& = <
=) L o
n w = _
~ 3 £ 2| 3
< WJ Ll (W) a
S ® = | S
T S g a2
z = iy o o
,m 099
vZTYT gog
097
A ¥S'0pT |850VT| og'e
, SY'TYT gz's
W, TSTVT | 2v VT 05z
|
|
|
|
|
|
|
,V
| 9STYT Gy T¥T | 000
|
|
|
|
|
|
|
|
W
m ISTVT | TV TVT| gz
Sy ST IYT cze
\ vS'0VT o5 0pT 09°€
68°0VT| 0L
0L'S
o
% L
8 =
o an Py
p= s C | =2
[Te) L [}
[N - =
® S c o
o ) N
1] o - m
: o N
~ 3 g 5 2
E3u. © W W_ (@)
© =
z =

km 0+850

km 0+775

W=0.58 m2

N

W=10.35m2

ST'IYT

0.23m2

=0.299 m2

W-wa wyréow.

p.p 139.00

0.33m2

W-wa wyréw.

N=

0.364 m2

p.p 139.00

08'S
GE'S
vy

79'0vT |VO'TVT Mm.v
€S TYT cze
6STVL| 05 TVT| gz

v9'TVT|SSTYT 000

65 TYT | LV TVT
0S¢
e TIYT gzs
Z8°0vT
v90vT 00
ae'y
Z6°0¥T[00'G
059
L)
=
=
&) L)
= <
I
@} = —
T 6| 3
(] L ]
= 5| S
> o o
059
zeopt| 0TS
SG0vT mw_w
2LOvT -
8y TYT sze
YSIVT evTvT| gz
6S'TVT | ¥’ T¥T| 000
YSTYT|SV IV gz
8Y'Tvl GZ'E
TBOVT (oo
G50rT v
S8'0vT| oLV
08'S
(W)
=
=
&) L)
v 2
oo J
o = —
T 5| g
Ll L ]
5 5 2
S o o

rys 6




